£28 2. TWAWARHLARERL F3[E

RE
1. (1) z2=-1, y=-1 (2) x=2y=1 3) x=3, y=-2
(4) z=1,y=5 (5) 2 =-2, y= 6) v=—-1, y=-3
2.1)z=1,y=3, 2= (2) z=2, y=-1, z=-2
B)x=3, y=2, z=-1 4)z=1y=2 2=1
1
3(U r=1 [a=2 @ { 7= T3
y=0"|y=-1 y=2 | ,_2
Y=
B,

1. 1A +FE2RR &, 2=-1&oT, F1RAFLIFE 2z =-12RALTy=-1%218%

2 BIX -2 XD, 22=-4, 2=2%oT, HF1XFLBFE2XCz=22RALTy=1%2152

(3) 1R x3-F2X &b, 13y=-26, y=-2&-7C, HIXFLEFE2Cy=2%RALTz=3
2155

4) H1A+F 23 kb, Ma=14, 2=1&oT, F1XFLWEWHE2Rc2=12RALTy=5%182

(5) HBIRAx3+H2Rx2&D, 7y=7, y=1&>T, F1XFL@FFHE 2R Cy=12RALTz=-2%
%5

6) H1Ax3+H2R x4 &b, 2650=-25 2=-1&oT, H1AFLFHE 2z =-1%2KALT
y=-3%18%

() I+ 2R XD, 3r+4y=15 - O FH1KXx2+53KX XD, 32=3,2=1 &£oT, O KAMA
THZLWED, y=3RD, =1, y=3%2H1X~EH3IKXoVITnricRATEIZICED 2=1%
(Exs

(2) HIX-H2AAx2 XD, Hr+9y=-19 .- OFE2Ax3+HE3IX XD, T2-9y=23 --.0,0+®@
D, 20=4,2=2&oT, (1) LARICEDLZLT, y=-1, z2=-2 %1553

B) HBIX+H 2K XD, 32—22=11, F2KXx3+HFE3X XD, 82—-52=29 £oT, (1) LFARITHED
5Z2T, r=3y=2 2=—-1%1%3%

(4) 1A x2-F2xX &0, By-132=13, FHB1X -3 &b, 5y-72=3 £o7T, (1) &AMk HE
HDBEZET, z=1,y=2,2=1%18%

3. (1) y=1—2 Z#H 2 UAL T, (2) y=—22 2% 2 NALT,
222 —(1—-2)2 =52 +3=0 222 + (—22)?2 —4 - (—22) +2=0
22 -32x4+2=0, (z—1)(z—2)=0 322 +4z+1=0,
z=1, 2 Br+)(z+1)=0&D z=-1, —%
r=1%Z2H1RMRALTy=0%182 ‘ "
v =25 1 URALT y = 1 285 r=-1EBIRERALTy =225
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